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GROUP—A , (c) The phenomenon of light responsible for
e—lala formation of mirage is
2 aqroRl 98 @6 a
1. Choose the correct answer out of the four mm,,_ 48 wridl o_Q._,:m:mm_:Qa. Qmmﬂa_
probables given at the end of each bit : 1x7=7 SAIY
gesie gelda 6936Q aI1e2el  Sl6ald | ) refraction
gaiey aee aug OR QG Q18 64 : geaad
(a) The dimension of electric permittivity is (i) interference
cRQIBR ARSI QFG ewee | 401994
@) M! 273 A%) | (iii) total internal reflection
@) MLTA%) Aggl NI JoTRe
Gi) [MIPT! A2 (iv) polarization
(iv) [M2LT2A%] | SN

(b) Biot-Savart law gives
@_Qﬂta_m_ﬂ Qge gele @6 (d) The SI unit of magnetic flux is

Ao ® a
(i) force between two charges QAR WRILA SI IRR 6LR

get OIf FUea aF (i) coulomb

(i) magnetic field produced by electric Lma
current (ii) ampere
3QIe6gIe 6QIq QR QAMA &Y 2IfaQ

(iijj force between two magnetic poles (iti) weber
QG QARIG 6A1Q AUea QR 6G9Q

(iv) electric potential due to a charge " (iv) farad
cQIG QI8 6QIg TS 99 TIQUG
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( 4)

{e) The ground-state energy of the electron

in hydrogen atom is
QREQIERR  AQNYER RAEARLAA Qg eq
gosa 6 6298

() 10 eV
(i) -10 eV
«MMQ |Hw.m @< ) |

(i) 58 eV

(/ The nature of strong nuclear force is

2ee QIBRIS 9% 99 6268 |

(i) repulsive and long-range
Aede 6 Qu-gdwIQT

(i) repulsive and short-range
Gede 6 0ec-gele!

(iii) attractive and long-range

2108Q 8 9-gISl

(iv) attractive and short-range
2IQ8Q 8 FRC-gAU

/311-A ( Continued )

(5

(g) The relation between the transistor
parameters o and B is

GIe6aa QIRIFcq « 6 B AJGR ANG 620

0 P=1-o
(i) pumm
i) B s
o o118

2. Answer each bit as directed : 1x7=7
g6ci@ gqirda Qea Fexdigalsa @ -
(a) The relati
i mmm ation between weber and

(Fill in the blank)
63QQ G 60QMI FRIEQ ANS €eRE |
(GNP Q8 @9)
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(b) - Can photoelectric effect be explained by . (e) Write the mathematical form of Bohr’s
wave theory-of light? Sestilaterregardingiangular i bm

y (State Yes’ or No)) of electron in atom.
(Write the answer only)
&”mﬂ_ﬂlﬂwxﬁw aele 216RIA CAX-9Q

Qal g’IR 629 @°?
(€ Q ‘el Qe &)

dQAIgea ACARLRR 6RNER A°690 ARG
69 QRIS SIETR QUEa Rl

(ERIR ARG 6RF)
(¢ What is the expression for the

capacitance of a parallel-plate capacitor
with air as the dielectric?

(f/ Which logic gate is known as the
universal gate?

(Write the answer only
(Write the formula only) y)

609 AR} 69¢ ASTRR 6OE VWA @12

& e A~ ~
2Q4eaIee NS QUYY R (6RRR Q9T 6Qd)

geeuIdga ke &de NGRS @87

(6997 Q8% 6As) i mnglagn deuen, st bnit )
what happens to the fringe width if

(d) The Lyman series of hydrogen spectra .ﬁrn distance between. the slits is
lies in the visible region. increased?

(Correct the sentence, if necessary)

QIRERIEIR QIINQ QAN €41 Qe
aaga quea agaldl

(21994@ g6R QURT ACARUT @9)

(Write the answer only)

AAE QBY ANVEEQ TYRAMRUEK YRG!
Qf c2em TH-9¢ Q'Q §4°?
(AR ARG 69
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GrouP—B
Y—Saua

ing bits :
f the following oxT=14

raq 20 Q2 :

3. Answer any sevemn 0

agage casMed Qe a4

why two lines of force in an
field cannot intersect each

(@) g_m.mb
electric
other.

3que 68868 a6 Awead QIee J929q.
cge qaalaee fF gl

(b) State and explain Ohm’s law.
gAS @eq Q6Rs @a 6 gelal

Find the resultant omvmoﬁmbo.n of the
following combination of capacitors :

(c)

Bgoge UIRG-Q6LIGR agaial UG

@&D@Q”
2 uF
i
e B T
By 1 uF
IR
2 uF
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(d)

(e)

(9)
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The angle of a prism is 60°. If the
minimum angle of deviation of a ray
through it is 30°, find the refractive

index of the material of the prism.

60° 6Ql8 QFY IR Jerea 9@ 6L
QYR ORF 618 30° 626@, YR g
geaedis fda Qal

Define work function and stopping
potential for photoelectric effect.

2I6RN-QIG.  gRUFQ  AD-TRE 6
CARIR IR AR AR @R

Write down the laws of radioactivity.

6003U0IQ FAAYER RS

What is a junction diode? Draw the
circuit diagram for it in forward-biased
condition.

R Af QAR @'a? AR UAIQSR
NLIQ 9@ Q0 Qg AGR el
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( 10 ) i

; Write' down four properties of nuclear .
®) foroes prop . (b) Explain what is wave-particle duality.

| QBQIg 99a 91618 A8 6mdl CaEr-Rd@l Q@ 990 @'d gl

) Distinguish = between paramagnetic (¢) Explain Rutherford’s a-ray scatterin
and diamagnetic substances (write two experiment and mention .ﬂm
points of difference). significance. oy

200na1a 6 geQARIa a1 a1eQy : o
29RTA 8 QT QeaETIST oGl G9R8 AsISe QU
Qa2 (@aF ey Qdlid)! ) < :
NQ° NLIQ QIgYY Q8Rd @l
() State the laws of electromagnetic
s en, (d) Explain what is GPS (Global Positioning
System).

QQYa QAIY 6gadIQ Faagee emdll
@. 4. Q. (ewlgRe QIf fda Qyegl) !’

Qa2
4. Answer any seven of the following bits :
3x7=2]
fgfge 6aeled Qe gqrea  eea (e) Define mass defect and binding energy
Qa - of a nucleus, and write the relation
; between them.
(a) Write the circuit symbol and truth table ~ B 7
of a NOR gate. @ Qe 9ge-ge 8 Qae-da8e gl
| 3 GRS NQ° 6QAAIRE CRIER &R AN
¢ NOR 696@ 9008 Q6@e 6 Ae4QIQd! cady|
eme| ,
( Continued/311-A { Turn Over )
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() What is -self-induction?: Find an
expression for the self-inductance of a
circular coil of N turns.

Q6Q¢ 47?7 N-6dQl QFY 9@ QR

S0 QENA Q6YRQ FFR 9 UBQ T4
Qal

: (9) Explain what is Brewster’s law. |

SeReF Q0N @4 Quial

«E EW% is the mww usually Eﬁ.m? but it
appears red at sunrise and sunset?

UMY QLR ARG W19, g geduion
8 QdiIg QAAAER QAR CQWIAN?

)

~ Derive an expression for the electrical
- conductivity of & metal in terms’ of the
drift velocity of the electron.

@ uiee qaida esmegea 299l
A9699Q 60 RIQ Q4. adeRel Baq
NQ BR TI99 Qql

/311-A: ¢

W 998R g - caedad Serica

( 13 )

() -~ Find' the wavelength of the radiation ..
emitted by hydrogen atom when the

“electron jumps from n=3 to n=2
state. . _ |

2ERI6RR AOAGER ASRARER n=3 §

n=24¢og A% Jdoie @6 Q4R I0q4q
Qe 634y e eql
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6. WSHG HWMU OMUMMM.H,D hmu Muwm Mb“hw hwﬁ mﬂwﬂrﬂm Mwu%m.p 9. W.MMO%U@@E@ o.wmu.moﬁwﬁmmﬁmmy of ﬁ?oﬁomﬁoﬂo
Obtain ﬁvm expression for current (J) 5 oac.MmoD %Mrmmﬁo%ﬁ“”\:» M QME_VGnKoSn
the circuit. Explain the phase relationship g plaiis.fhe
between E and I and show it graphically. 5+2=7 characteristics. 3+4=7
6@ 464 (L) gl 6QURIYF 9@ IQYQ | ACAR-TQIe. dAINQ RAINYLe Qgel el
a8906Q @ 9. J. EMF, E = Eysinot g6aidl | RIS EMR-IQIQ ANRQE FIge e
QAAINE! 96K geRe GQuesgie (1) §ae NQ® 92 QAR W' R\gee QW, Qdil
@R FANR QQl E NQ° ] FIEA QRIGe Aa i

QRI2 B 9RIQ 6Q¢ Fgea eastal

7. Establish the relation among object distance
(u), image distance (v) and focal length (f) for
a concave mirror. Discuss how the size and
nature of image vary with the position of
image. 5+2=7
R 29eR 9da6a g Q0Q! (u), 9o°R QG
(1) 99° 6TIRIR 6]AY (f) AU NG FITR Ql
Qga S8e ege Al gelna RK 68 gee
AREQ ISR @l

8. Describe the construction and charac-
teristics of a Zener diode. Discuss its
action as a voltage regulator. 4+3=7
R 6RRQ GI60IeQ F08 B ARAIE QI eql

CRINEER  RORR NIRA NRIQ  QIdigeInT
AP Q!
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